2005
17

H=1.0 C=12 N=14 0O=16 P=31 S=32 CI=35.5
6.0><10% /mol

17 10 19



K Ca
2-8-8-1 | 2-8-8-2
=10

D Ne

) Ne

A3) Ar

(C)) Ar

(%) K*
(1 | Mg* Cr
(2) Al Cr
(€)) K* SO#
(@)) NH,* NOs




21 36

>

C2H402 HzCOs NF3 CHZOZ CSHG(

@
¢y

>

NaF HzOz Can L|20 CF4 OFZ

100g

HNO; NO: CHsCOOH SO,

HCI (219 g)
H,S0, (196 g)
CHsCOOH (240 g)
HsPO, (98 g)

@ H*
2 H*

®

Cl,

)



>

(1) H:S0; (20 CHs,COOH (3) HNO; (4) Ba(OH), (5 NHs

10
<14

HCI NaOH
HCI NH;

H>S0, NaOH

H.COs Ca(OH),

HNO; Ca(OH),

H>SO, NH;
HCI Ca(OH),

11 H,SO,, HCI, CH;COOH 1 mol NaOH

NaOH mol mol mol



